

Ex Use a power series to solve $2y'' + xy' + y = 0$.

Solution

SINCE $x=0$ IS AN ORDINARY POINT, WE CAN CENTER THE POWER SERIES AT $x=0$. FURTHERMORE, SINCE THE EQUATION HAS NO SINGULAR POINTS, WE EXPECT OUR POWER SERIES SOLUTION TO HAVE AN INFINITE RADIUS OF CONVERGENCE. (SEE LECTURE SLIDES.)

$$y = \sum_{n=0}^{\infty} a_n x^n$$

$$y' = \sum_{n=1}^{\infty} n a_n x^{n-1}$$

$$y'' = \sum_{n=2}^{\infty} n(n-1) a_n x^{n-2}$$

SUBSTITUTE ...

$$2y'' + xy' + y = \underbrace{\sum_{n=2}^{\infty} 2n(n-1) a_n x^{n-2}}_{\substack{\text{REPLACE } n \text{ WITH} \\ n+2}} + \sum_{n=1}^{\infty} n a_n x^n + \sum_{n=0}^{\infty} a_n x^n$$

$$= \sum_{n=0}^{\infty} 2(n+2)(n+1) a_{n+2} x^n + \sum_{n=1}^{\infty} n a_n x^n + \sum_{n=0}^{\infty} a_n x^n$$

PULL OFF THE $n=0$ TERMS

SO ALL START WITH $n=1$ AND COMBINE.

$$= 2(2)(1)a_2 + a_0 + \sum_{n=1}^{\infty} [2(n+2)(n+1)a_{n+2} + na_n + a_n] x^n$$

$$= 4a_2 + a_0 + \sum_{n=1}^{\infty} [2(n+2)(n+1)a_{n+2} + (n+1)a_n] x^n$$

$$= 0$$

Therefore,

$$4a_2 + a_0 = 0$$

$$2(n+2)(n+1)a_{n+2} + (n+1)a_n = 0$$

- or -

$$a_2 = -\frac{1}{4}a_0 \quad \text{AND} \quad a_{n+2} = -\frac{1}{2(n+2)}a_n \quad \text{For } n=1,2,3,\dots$$

Let a_0 and a_1 be our two arbitrary constants of integration.

$$a_2 = -\frac{1}{4}a_0$$

$$a_3 = -\frac{1}{2 \cdot 3}a_1$$

$$a_4 = -\frac{1}{2(4)}a_2 = -\frac{1}{2(4)} \cdot \left(-\frac{1}{4}\right)a_0$$

$$a_5 = -\frac{1}{2(5)}a_3 = -\frac{1}{2(5)} \cdot \left(-\frac{1}{2 \cdot 3}\right)a_1$$

IT MAY TAKE A FEW MORE TERMS TO OBSERVE THE FOLLOWING PATTERN:

WITH a_0 & a_1 ARBITRARY CONSTANTS,

$$a_{2n} = \frac{(-1)^n a_0}{2^n (2 \cdot 4 \cdot 6 \cdots 2n)}, \quad n = 1, 2, 3, 4, \dots$$

$$a_{2n+1} = \frac{(-1)^n a_1}{2^n (1 \cdot 3 \cdot 5 \cdots (2n+1))}, \quad n = 1, 2, 3, 4, \dots$$

OUR SOLUTION IS

$$y(x) = \sum_{n=0}^{\infty} a_n x^n \quad \text{WITH THOSE } a_n \text{'s } \dots$$

$$y(x) = \underbrace{a_0 + a_0 \sum_{n=1}^{\infty} a_{2n} x^{2n}}_{\text{EVEN-POWERED TERMS}} + \underbrace{a_1 x + a_1 \sum_{n=1}^{\infty} a_{2n+1} x^{2n+1}}_{\text{ODD-POWERED TERMS}}$$

$$= \underbrace{a_0 + a_0 \sum_{n=1}^{\infty} \frac{(-1)^n x^{2n}}{2^n (2 \cdot 4 \cdot 6 \cdots 2n)}}_{\text{CALL THIS } y_1(x)} + \underbrace{a_1 x + a_1 \sum_{n=1}^{\infty} \frac{(-1)^n x^{2n+1}}{2^n (1 \cdot 3 \cdot 5 \cdots (2n+1))}}_{\text{CALL THIS } y_2(x)}$$

$y_1(x)$ AND $y_2(x)$ ARE LINEARLY
INDEPENDENT SOLUTIONS OF THE EQUATION.

IT IS NOT DIFFICULT TO CHECK BY USING THE
RATIO TEST (CALC II) THAT BOTH $y_1(x)$
AND $y_2(x)$ CONVERGE ABSOLUTELY FOR ALL x .

(RECALL THAT WE ALREADY KNEW THE SOLUTION
WOULD HAVE AN INFINITE RADIUS OF CONVERGENCE.)